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Nwms: Jara: Orenka:
3 3
100+10— = = 90N+9—- = =
2 5
1 1 1 3
6X4 5 50=5 5
1 3
3+-3+ - = - —9+3=
2 5
1 1 2 3 1 1
_ X _-— - = —_F — X — =
4 6 3 5 5 3
1 2 3 3 1 3
—_F — X — = — 4+ — X — =
4 5 4 4 3 4
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Nwms: Hara:_ Omenka:
3 17 1 47
100+-10— == — = 8= =9 ==—==9=
0010 3 3 82 90 +9 5 95
1 1 1 19 3 53 3
X - =(—— =54+ —-—=— =10-
6 3 5 U1 N=5+3= 57103
1 3 1 12 2
+3+-—==-=1= - 9+3=(—-)=("2<
373 2 2 2 03 (5) ( 5)
1 1 2 5 3 1 1 2
7Xz=5=03) ct3¥373
4 6 3 8 5 5 3 3
1 2 3 11 3 1 3
-+ =X —= — -+ -x=-=1
4 5 4 20 4 3 4
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